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You squeeze a long balloon on one side. Air moves toward the other side causing the
balloon to bulge. As a result, the pressure is reduced on the side where you are
squeezing. The air moves in a way that relieves the pressure. See below.

co%;?_uk?-r much stress!
DEPT. I've got to get
out of here!

All systems respond in a way that relieves stress. Pressure is an example of a stress. Chemical reactions respond in a way that
relieves stress too. This is known as Le Chatelier’s principle. According to Le Chatelier’s principle, when stress is applied
to a system in equilibrium, the reaction will shift in a direction that relieves the stress and a new equilibrium will be
established. Applied stresses include changes in concentration, pressure, or temperature. Following are descriptions of how
reactions at equilibrium respond to these specific stresses:
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Le Chatelier’s principle applies only to reversible reactions at equilibrium, but it gives some insight into end reactions as well.
When a precipitate, a gas, or water forms the reaction is not reversible. These are products that are not available for reaction.
When they form, it is as if the concentration of one of the products in an equilibrium system is reduced to zero by removing
it as soon as it is produced. Le Chatelier predicts that the reaction will shift in the direction of forming more product.
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